)

system simplePABX

1(1)

SIGNAL HAbge(NATURAL),HAufg(NATURAL), Flash(NATURAL), Taste(NATURAL NATURAL); [\
SIGNAL Ton(NATURAL,Charstring), Ruf(NATURAL), NoRT(NATURAL);
cnrsnninsnnnst | SIGNAL akt(NATURAL),pas(NATURAL),et(NATURAL),wzi(NATURAL,NATURAL);
SIGNAL wz(NATURAL),bz(NATURAL),fz(NATURAL),rz(NATURAL),no(NATURAL);
SIGNAL verbinde(NATURAL,NATURAL),trenne(NATURAL,NATURAL);

SIGNAL verbunden(NATURAL,NATURAL);
SIGNALLIST toSIG=HAbge,HAufg,Flash,Taste;
SIGNALLIST fromSIG=Ton,Ruf,NoRT;
SIGNALLIST toCC=akt,pas,et,wzi;
SIGNALLIST fromCC=wz,bz,fz,rz,no;

C1l Cc2
[romsic)] HAbge, SIG [toco)]
HAufg,
Taste, Cc3
Flash [(fromCC)]
cs C4
MAR

Tverbunden]

[verbinde,trenne]

CallControl




C2

C3

c4

block CallControl

SIGNAL aAkt(NATURAL),aWzi(NATURAL,NATURAL),aPas(N
SIGNAL bAkt(NATURAL),bWzi(NATURAL,NATURAL),bPas(N
SIGNALLIST L1=aAkt,aWzi,aPas,bAkt,bPas;

SIGNAL wrtTab(NATURAL,PId,tinRole);

NEWTYPE tinRole N
LITERALS a,b,f
ENDNEWTYPE;

NEWTYPE callStates
LITERALS ruhe,vw,bes,ziw,zir,zig,zib
ENDNEWTYPE;

NEWTYPE callTabelle STRUCT
cState callStates;

aTln NATURAL;

bTIn NATURAL;
ENDNEWTYPE;

NEWTYPE tinTabelle STRUCT
inst PID;

role tinRole;

ENDNEWTYPE;

SYNTYPE index=NATURAL
CONSTANTS 1:4
ENDSYNTYPE;

NEWTYPE tinTabellen ARRAY (index,tinTabelle)
ENDNEWTYPE;

P21

P31

[toco)]

Manager(1,1)

p3

@)

wrtTab]

p4

[(fromCC)]

p41

CallControl(0,4)

verbinde,trenne]

1(1)

Block CallControl

SIGNAL aAkt(NATURAL),aWzi(NATURAL,NATURAL),aPas(NATURAL);
SIGNAL bAkt(NATURAL),bWzi(NATURAL,NATURAL),bPas(NATURALY);
SIGNALLIST L1=aAkt,aWzi,aPas,bAkt,bPas;
SIGNAL wrtTab(NATURAL,PId,tInRole);




process Manager

(L2); I
SIGNALSET pas,akt,w:

ab(1)!inst:=Null,
tTab(2)!inst:=Null,
tTab(3)!inst:=Null,
fab(4)!inst:=Nyll

DCL REVEALED tTab tinTabellen;
DCL x,y NATURAL,inst PId,role tinRol

Iﬁ 1(1)

wzi(x,y) < akt(x) <
Nl

Tab(x)!role

a

t]

Fab(x)!inst:=indt,
[ab(x)!role:=role

—

aWZzZI(x,y) to bAkt(x) to aPas(x)to
tTab(x)linst CaliControl | | ropiytinst / |tTab(tinst

bPas(x)to > ( ; )
tTab(x)!inst

tTab(y)!inst:=OFFSPRING, tTab(x)linst:=Nyl,
- [Tab(x)!role:=4 tTab(x)!role:=f

aAkt(x) to
tTab(x)!inst

L

)




process CallControl 1(2)

(0,4);

DCL REVEALED cTab callTabelle;
VIEWED tTab tinTabellen;

DCL x,y NATURAL;

TIMER tWZ:=1000, tBZ:=2000,tRZ:=2000;

cTab!cState:=ruhe

L

(o)

aAkt(x)

15

Fab!cState:=vw,
cTab!aTln:=x

O

Wz (X)

[*set(tWz)*/

L)

[

aPas(x) < twz <

reset(tWz) bz(x) >
else
no(x) > cTabl!cState:=bgs
true

else

;
©

awzi(x,y)




process CallControl

wrtTab(y,SEL¥,b)

q

cTab!bTIn:=y,
Tab!cState:=z|r

[Freset(tW2z);

set(tRZ);*/

( WaitOfPas )

T

— 2(2)
( BES )

aPas(x) < tBZ <

[*reset(tBZ)*/

no(x)

—
aPas(x)
bAKkt(x)
reset(tR2)
c[rab!cstate:=zig;

reset(tR2);

no(cTab!a
no(cTab!bTl

ab'! aTln,cTab!bTIn)

no(cTab!bTl

[*set(tBZ)*/

L

( WaitOfPas )

)

bPas(x)

trenne(cTabqTIn,cTab!bTIn),

x:=cTab!aTIn




